

A-MUSE

Agoshian Music Education Center



ARDASHES AGOSHIAN MUSIC EDUCATION CENTER INSTRUMENT LESSONS, COMPOSITION COURSES & ENSEMBLE COACHING

Dear Lifelong Learners,

What is your dream in music?

Is it playing an instrument? Composing and/or arranging music? Or are you playing an instrument but you don't know how to hit the next level? Maybe you have a vocal or instrumental ensemble and you (and your group) need coaching?

All these dreams and aspirations can come true with hard work and a reliable education system. "Agoshian Music Education Center"© is here to provide the system that you need. "Personally Designed Education Model"© (PDEM) is the most important feature of the system. It means that the whole education curriculum will be tailored especially to your needs. The aim is to improve your abilities, desires and targets not only in music but also in life because music is an inseparable part of it.

Ardashes Agoshian



PRIVATE INSTRUMENT LESSONS

- I give piano, classical guitar, bass guitar, and double bass lessons at all levels in English, Western Armenian and Turkish. I also speak basic Dutch. You should choose one instrument. If you can play one of them at an intermediate level, then you can learn one more instrument if you want to.
- I will add some instrument lessons in different languages with experienced teaching staff in the near future.
- I give lessons to children (minimum 9 years old) and adults (without age limit).
- I expect each student to have their own instrument. I do not provide instruments and books but I am going to share my contacts for renting instruments and buying books.
- I can help you prepare for the entrance exams of music schools in all levels and <u>Conservatories</u>. For a successful result, please get information from the school and contact me as early as possible.
- Every musician at every level should share their music with the public. I will organize some student concerts, and you will be expected to play there to improve your stage performance abilities.
- The instrument lessons are divided into four sections: Improvisation, scales/arpeggios, exercises/etudes and repertoire.
- I have mentoring programs for upper intermediate and advanced instrumentalists for building and keeping repertoires and recordings.
- This program has an online option. It requires a fast Internet connection and a basic system with a sound card and a microphone (optional).

Reminder: 9-15 years old students would require certain psychological support about the daily practice from family.



INSTRUMENT LESSONS COURSE RATES 12 WEEKS FOR BEGINNERS)

Ardashes Agoshian Music Education Center www.agoshianmusic.com Tel: +31(0)633691261

60 Minutes Instrument Lessons

Lessons	Time/Per Week	Per Lesson	Total time for 12 lessons	Total rate
Instrument	60 minutes	€49 (€9 Discount)	12 hours	€588
Music theory (Solfeggio, Harmony, Counterpoint)	60 minutes	€49	12 hours	€588
Total	120 minutes	€98	24 hours	€1176

45 Minutes Instrument Lessons

Lessons	Time/Per Week	Per Lesson	Total time for 12 lessons	Total rate
Instrument	45 minutes	€39 (€4.50 Discount)	9 hours	€468
Music theory (Solfeggio, Harmony, Counterpoint)	60 minutes	€49	12 hours	€588
Total	105 minutes	€88	21 hours	€1056

30 Minutes Instrument Lessons

Lessons	Time/Per Week	Per Lesson	Total time for 12 lessons	Total rate
Instrument	30 minutes	€29	6 hours	€348
Music theory (Solfeggio, Harmony, Counterpoint)	60 minutes	€49	12 hours	€588
Total	90 minutes	€78	18 hours	€936



INSTRUMENT LESSONS COURSE RATES (12 WEEKS FOR -UPPER- INTERMEDIATES)

Ardashes Agoshian **Music Education Center** www.agoshianmusic.com Tel: +31(0)633691261

60 Minutes Instrument Lessons

Lessons	Time/Per Week	Per Lesson	Total time for 12 lessons	Total rate
Instrument	60 minutes	€55	12 hours	€660
Music theory (Solfeggio, Harmony, Counterpoint etc.)	*Week	€*	*Hours	
Total	60 minutes	€55	12 hours	€660

45 Minutes Instrument Lessons

Lessons	Time/Per Week	Per Lesson	Total time for 12 lessons	Total rate
Instrument	45 minutes	€40 (€1.25 Discount)	9 hours	€480
Music theory (Solfeggio, Harmony, Counterpoint etc.)	*Week	€*	*Hours	
Total	45 minutes	€40	9 hours	€480

- (*) The necessity and frequency of the theory lessons will be decided after a consultation.
 In this level, a free "Birds-Eye-Study-Plan" session will be arranged after the payment of the total
- The contents, frequency and rates for the "Mentoring Program" for advanced players will be arranged after a consultation.